
35 In which set below is the shaded part 
equivalent to Ig? 

( 1 ) 

( 2 ) 

38 A bag contains three green marbles and 
four blue marbles. If one marble is drawn 
from this bag at random, what is the 
probability that the marble will be blue? 

(1) 7: 
4 

(2) 1
7 

(3) ;l
7 

(4) 1
4 

( 3 ) 

( 4 ) 

39 The square of a positive number is 36. The 
number is 

(1) 6 
(2) 18 

(3) 72 
(4) 1,296 

40 Four is 50% of what number? 

(1) 100 
(2) 50 

(3) 8 
(4) 4 

36 Juan had $146 in his savings account. He 
deposited $14 and later withdrew $12. 
What was his balance after the 
withdrawal? 

(1) $172 
(2) $160 

(3) $158 
(4) $148 

41 The sales tax rate in a city is 8~%. Which 

amount is the best approximation of the 

tax on a $20.00 shirt? 

(1) $0.16 
(2) $1.00 

(3) $1.60 
(4) $16.00 

37 Josh has a book with 247 pages. He has 
read 200 pages . Which fraction shows the 
ratio of the number of pages Josh has read 
to the total number of pages in the book? 

47 
(1) 247 

(2) ~O 

(3) 200 
247 

(4) 200
447 

42 A telephone call costs $0.50 for the first 
2 minutes and $0.35 for each additional 
minute. What is the total cost of an 
8-minute call? 

(1) $0.85 
(2) $2.60 

(3) $2.95 
(4) $4.00 
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43 The graph below shows the high , 
temperature each day during one week. 

Between which two consecutive days did 
the high temperature decrease by exactly 
5°C? 

w 
a: 
:::::> 
~ 0 -l---+-+-_...---i,.--_w__--+----i 
a: 
w -5 -+---+-+--I-----+-+--I------in, 

~ -10 -l---+-+-_+_--+-+-_+_----1 
I­

-15 -'---+-+-_+_~__:_+-_+_--i 

(1) Sunday and Monday 
(2) Monday and Tuesday 

45 The graph below shows how many airplane 
flights arrived and departed from each of 
three airports during January 1993. 

J.F.K. La Guardia Newark 
AIRPORTS 

What is the best estimate of how many 
more flights used Newark Airport than 
J.F.K. Airport in January 1993? 

(3) 7,000 
(4) 15,000 

(1) 22,000 
(2) 2,000 

AIRPORT USE FOR JANUARY 1993 
25,000 -r--------------, 

~ 20,000 -I------e;;:;;::;:::;:;I----1~~--1 

I 15,000 
o 
~ 10,000 -+--EilSii 

LL 5,000 
o 

(3) Wednesday and Thursday 
(4) Friday and Saturday 

46 A train leaves Northport at 10:05 a.m. to 

travel to New York City. If this trip takes 

1~ hours , what time will the train arrive in 

New York City? 

(1) 10:20 a.m. 
(2) 11:05 a.m. 

(3) 11:20 a.m. 
(4) 11:30 a.m. 

44 Which fraction is the largest? 

(1) 1. 
3 

1 
(3) 21 

1 
(4) 42 

47 Which three decimals are written in order 
from least to greatest? 

(1) 0.34, 0.22, 0.45 
(2) 0.34, 0.45, 0.22 
(3) 0.22, 0.45, 0.34 
(4) 0.22,0.34, 0.45 
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48 A refrigerator that usually sells for $500 is 
on sale for 10% off. What is the difference 
between the regular price and the sale 
price? 

(1) $5.00 
(2) $50.00 

(3) $450.00 
(4) $550.00 

52 What is the greatest common factor (GCF) 
of 5, 10, and 50? 

(1) 5 
(2) 10 

53 If n% of 75 is 75, what is n? 

(1) 1 
(2) 10 

(3) 100 
(4) 1000 

49 Which is the best estimate of the height of 
a door? 

(1) 2 millimeters (3) 2 kilometers 
(2) 2 centimeters (4) 2 meters 

, 54 How many meters are equal to 
450 centimeters? 

(1) 4.5 
(2) 45 

(3) 450 
(4) 45,000 

50 The circle below has its center at point o. 

-

-
Which term describes AB? 

(1) diameter 
(2) circumference 

(3) secant 
(4) radius 

55 What is the value of c in the right triangle 
below? 

8 

n 
6 

c 

(1) 10 

(2) 12 

(3) 100 

(4) ,f[O51 Which number is the closest estimate of 
the product of 297 and 31? 

(1) 900 
(2) 6,000 

(3) 9,000 
(4) 90,000 
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56 Kassim has to paint a rectangular floor that 
measures 15 feet by 25 feet. If a gallon of 
paint covers 100 square feet, how many 
gallons does he need to do the job? 

(1) 1 (3) 3 
(2) 2 (4) 4 

57 Which statement is represented by the 
algebraic expression 5 - x? 

(1) 5 less than x 
(2) 5 decreased by x 
(3) the product of 5 and x 
(4) the quotient of 5 and x 

58 Using the formula A =1tr 2 , find the area 
of a circle whose radius is 3. (Use 1t =3.14) 

(1) 113.04 (3) 18.84 
(2) 28.26 (4) 9.42 

59 Subtract: 

(I) 2~ 

4 

11 
3 

-­

(3) 2~ 

(2) 3~ (4) 3~ 

60 Divide: 9 + 1~ 

(1) 3
23 (3) 4)0

11 

(2) 11 
54 (4) 16~ 

RCT-Math.-Jan. '96 [11] 


